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Choose the correct option (1 X 15=15)

Question 1.

Feasible region in the set of points which satisfy
(a) The objective functions

(b) Some the given constraints

(@ All of the given constraints

(d) None of these

Question 2.

Of all the points of the feasible region for maximum or minimum of objective function the points
(2} Inside the feasible region

(b) At the boundary line of the feasible region

@ Vertex point of the boundary of the feasible region

(d) None of these

Question 3.

Objective function of a linear programming problem is
(a) a constraint

(@ function to be obtimized

(c) A relation between the variables

(d) None of these




Question 4.

& set of values of decision variables which satisfies the linear constraints and nn-negativity conditions of a
L.PE is called its

(a) Unbounded solution

(b) Optimum solution

i Feasible solution

(d) Mone of these

Question 5.
The maximum value of the object function Z = 5x + 10 y subject to the constraints x + 2y = 120, x + y = 60, x

-2yz0,xz0,yz0is
(a) 300

(c) 400

|'r|‘l !:!"‘:]
L g

Question 6.

The maximum value of Z = 4x + 2y subject to the constraints 2x + 3y =18, x+y=10,x,y=01s
(a) 36

(b) 40

(c) 30

@ None of these

Question 7.
Ineguation3x—yz=3and 4x — 4y = 4
@ Have solution for positive xand y

(b) Have no solution for positive x and y

(c) Have solution for all x
(d) Have solution for all y

Question 8.

The maximum value of £ = 3x + 4y subjected to contraints x +y <40, x + 2y <60, x=z0andy=01s
(a) 120
@ 140
(c) 100
(d) 160




Question 9.
Maximize £ =11 subjecttox=4 y=6
(a) 44 at (4,2

(c) 62 at(4,0)
(d) 48 at (4, 2)

Question 10.
Maximize £ = 3x + Sy, subjectto x +
20at (1,
:j )) 3: at (0,
) 37 at (4,

(d) 33 at (6, 3)

Question 11
Maximize £ = 4x + 6y, subjectto 3x+ 2y =12 x+y =4 Xy

A

(a) 16 at (4, 0)
(b) 24 at (0, 4)
(c) 24 at (6,0)

@ 36at (0 6)
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Question

Maximize Z = 7%+ 11y, subject to 3x + Sy =
o

@ 59at|
(b) 42 at (6, D‘
:j-:_] 49 at (7,0)

(dy57 2 at(0 5 C“,
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Question 13

Maximize 7 = 6x + 4y, subjecttox =2, x+y =3, -2x+y=1,x=20y=20

(d)y4at(0, 1)




Question 14.

Maximize Z =10 %9 + 25 %o, subjectto 0=x =3, 0= %
(a) 80 at (3, 2)

(b) 75at (0, 3)

(c) 30 at(3,0)
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Question 15.
£=20%1+ 207 subjecttox 20, %02 0, X9 + 2¥2 2 8, 3y + 2% =15, Sxq + 2% = 20. The minimum value of £
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